Hytrin discussion question

Abbott Laboratories makes a product called Hytrin.  Hytrin treats prostate disorders.  Three other drugs also treat prostate disorders, Minipress, Cardura and Flomax.  Abbott’s basic patent on Hytrin expired in 1996.  A number of other generic producers had filed the paperwork with the FDA for approval of a generic tablet version of Hytrin.  In 1995 Abbott filed a new patent for a capsule version of Hytrin.  Most observers believed this patent was not valid and would be so ruled by the courts.  Abbott stopped selling the tablet and only sold the capsule after 1996.  Geneva, a generic drug manufacturer, filed an application with the FDA for a capsule version and challenged Abbott’s patent.  The court issued a preliminary ruling that the patent was not valid in March 1998 and the FDA approved the application at that time.  This allowed Geneva to enter the market even though if the patent was eventually ruled valid by a appellate court, Geneva would be liable for Abbott’s lost profits from its entry.


In response to the treat of the generic entry, Abbott entered into an agreement with Geneva “settling” the patent dispute whereby Geneva agreed to recognize the validity of the patent and not to enter the market until a final appellate court ruling in return for a payment of $4.5 million per month.  This effectively stopped anyone else from entering also as, according to FDA rules, the first approved generic entrant gets six months exclusivity from the date the product is first marketed.  Hence until Geneva marketed all other generics were precluded from entering.     


The appellate court upheld the lower court’s ruling that the patent was invalid in August 1999 and Geneva entered at that date.  The price of the generic was $60 compared to Hytrin’s price of $140 per 100 capsules.  About 80% of the users switched to the generic version.  Six months later Mylan entered with a second generic and the price fell to about $14 per 100 capsules.


Abbott sold about $540 million per year prior to generic entry.  The retained 20% of the market and did not lower their price after entry.  Abbott’s production cost was about $7 per 100 capsules.  Geneva’s cost was about the same.


An antitrust suit was filed against Abbott and Geneva claiming that the agreement between Abbott and Geneva allowed Abbott to maintain a monopoly until generic entry.  

A.  In defense, Geneva claimed that they were not in fact able to enter the market until August 1999 anyway because of production problems.  They claimed therefore that there was no injury to consumers as a result of the agreement.  In support they suggested that the profits from entering, had they been able, substantially exceeded the payments from Abbott.  Therefore they suggest that it was not economically rational for them to accept the agreement if they in fact could have entered.  Is this claim credible?  (What are the gains from entering as compared to the gains from the agreement?)

B.  Abbott also argued in defense that they had no monopoly power.  What is monopoly power?  In support, they presented economic evidence of a high cross elasticity of demand between Hytrin and the other therapeutic substitutes.  They also presented evidence that they had only a 20 percent share of the market for the treatment of prostate problems.  What, if any, is the relevance of the evidence presented by Abbott?  What, if any, information would you add or look to in order to determine whether Abbott had market power?

C.  Can you suggest an economic explanation for why the Hytrin price does not change with generic entry?  Does the fact that the price of Hytrin did not change with generic entry indicate that Hytrin does not compete with the generic?
